| L2 COMPUTE time per input event Enies 352302
x10° Mean 4.183
1]
S [ RMS 2.246
>
.w. L S A A S A Underflow o]
< H
: Overflow 4
010] RS Ehtl SEEEEEL TETETETT SEPPPPR FRPPRPS
] SO SSURUNS FUSUIOYS FONPINS S
BOf -k b
o b
S L b
O-ILIiIIIiIIIilllilllilllillIilllilll
0 20 40 60 80 100 120 140 160 180

x: COMPUTE time (CPU KkTics)

rate of COMPUTE |

o V- rate (I-g)
o

o
o

600

400

200

Entries
Mean
RMS
Underflow

Overflow

352302

374.2

185.2

0

0

0 ||i|||il||i|||i|||i|||i|||i|||i|||i|||

0 200 400

600 800 1000 1200 1400 1600 1800 2000

x: time in this run (seconds)

total events. O=anylnput 10=anyAccept 11=normalAccept 12=rndAccept Entries 352302 | L2-et0W-Calib: seen tokenS Entries 352302
. Mean 05 9140 Mean 2047
-] RMS 0 S RMS 1183
: >
H ]
Underflow o] $120 Underflow [o]
.| Overflow [o] Overflow 0
100
80
60
40
20
'1'{.'|'|'|'i'r'r'r"'|'1'1'i'|'r'r'i"r'|"|"i'1'1'|'i'|'r'r' o I"I"|' O
4 6 8 10 12 14 16 18 0 500 1000 1500 2000 2500 3000 3500 4000
Input: 0=compute. Anything else=Contact Expert x: token value
ETOW #tower w/ energy /event Entries 352302 #ETOW towers / event , Et>1.50 GeV Entries 352302
5 Mean 4.328
LICE o 12} T T
5 RMS 3392 5 : ‘[Mean  0.5261
o I} . :
o o . .
3 Underflow 0 ST M S ERRE R R TR TP PP R PEEP PR PR fMS 01652
10* E Overflow 0 ’
C Lol P PP PT FPPPPPPPRPS Rt LETTTTTTTEDE FEPEES
10° E :
- : i :
r 10 _? """""""""""""""""" ' """"""""""""""""""""
102 pRRLEEAREERD e P eeeees e A R C :
: . e R B e
L RS | Proseesesseniinnasd i 5
L : 110) S SO e o TR TR
i SRS S “‘M ----- ST RS S C : : : :
L1l I 1111 I 1111 I 11 1 111 1111 I l 11 1 1 I 11 1 1 I 11 1 1 I 11 1 1 I 11 1 1
0 10 20 30 40 50 60 70 80 90 100 0 5 10 15 20 25 30

Sun Jul 6 04:46:25 2014

x: # ETOW towers

x: # ETOW towers




[ ETOW tower, Et>1.50 GeV (input) | Entries 9212
10° Mean 420.5
RMS 204.9
10 =
i
m
I
1| O I O 6 O 1 O SO U | AU | | RS U NSRRI i RO
1109 L O U O o O 3 O | OO IO O IO O I || OOt | DO SUUUURUUSAUUANE S SOV
H :
0 700 . .
x: ETOW softiD=ig+60*in
[ ETOW tower, Et>1.50 GeV (input) | Entries 9212
10 Mean 0
RMS 0
768 768.1 768.2 768.3 768.4 768.5 768.6 768.7 768.8 768.9 769
x: ETOW softID=i@+60%*in
[ ETOW tower, Et>1.50 GeV (input) | Entries 9212
102 Mean 0
RMS 0

768.9 769
x: ETOW softID=i@+60%in

[ ETOW tower, Et>1.50 GeV (input) |
10?

Entries 9212

. 769
x: ETOW softID=ip+60*in






ETOW tower, Et>1.50 GeV (input)

| -
@]
o+
(&
(D)
7))
O
o
|_
l
=
O
=
o
>

I
o

12
X: eta bin, [+2,+1]
Sun Jul 6 04:46:25 2014




